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Ost=ZX A O] 1,000,000& 1,000
405 KHakE SH 1,240 0 1,240
01 TR ESFSHI 1,240 0 1,240
OotAIsaE=E 7 1,240,000 1,240
=012 AR S 2t FAL2C 405,204 370,646 34,558
101 @124H| 99,800 88,800 11,000
MU IIRIMZZENSES 99,800 88,800 11,000
OJIZtMZ2ZEE=(2Y)
99,800,000 99,800
201 et 3| 120,170 97,210 22,960
01 AtR2te|Hl 6,450 4,290 2,160
Ogs2 29 Ml 2,850,000& 2,850
O&=D| Xtz 2,400,000 2,400
O3J188J| Xtz 1,200,000& 1,200
02 S3=gl 113,720 92,920 20,800
OAI2 &= X 110,420
o 201H| E24d| 6,480,000 6,480
oI 22| Y S|
6,360,000 6,360
ocaPALFA2AIUNYE SSHI
4,080,000& 4,080
osZIIFNESUE EAHH]
6,000,000& 6,000
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FA AlgYS2
Hu: si2@ 2@ 29
o9l BIR0IPALSR 29 (crel: g)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
cQAHelAS N S|
3,000,000& 3,000
SIIAHLHI|, AERE R4
80,000,000 80,000
ST ADIA & AUSIIE A
900,000 900
oFAYSY A=H 1,500,000& 1,500
oM Ha 2 HA 1,200,000& 1,200
ootk Al 900,000 900
OXxtgrdet] 3,300,000& 3,300
203 HR=&H] 1,200 1,200
03 A=A R A 1,200 1,200
Ost=0l2IAtEtE 2k 2tel 1,200,000 1,200
206 MH=Hl 11,100 11,100
01 MZH| 11,100 11,100
O24+H2IA, YAE %E7Y
2,100,000& 2,100
OFAL A= 22l Tt e
8,300,000 8,300
OF At HHES 7Y 700,000 700
308 AXIHSOIA 170,864 172,336 A1,472
18 SIS0t HAS A 170,864 172,336 A1,472
OBZ0IBIAI 2D HA2E)
170,864,000 170,864
405 AtatE = 2,070 2,070
01 TR =S FSHI 2,070 2,070
Ooddn 7 500,000& 500
O2M1 Hs&dl 7 1,570,000 1,570
st=012 AL S 2 S JHE X2 105,000 105,000
201 er2 3| 5,000 5,000
01 At2teltl 5,000 5,000
A 5,000,000& 5,000
207 ARl 100,000 100,000
01 S| 100,000 100,000
OEtgd A 100,000,000 100,000
I AIFALZE 2 659,910 507,340 152,570
QI AIFAIRZ &Al % WST2H 2 85,100 78,400 6,700
201 Ler23 | 52,500 47,800 4,700
01 At2t2lt] 17,700 13,000 4,700
Ost=xA8Hl & BOA &2t
15,000,000 15,000
OJNEAZENH MEBZ
1,200,000& 1,200
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A AEE =SS
M U2 23 29
Che: CIMGAIAAIZ 29 (SH9 H2)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
OXHASAHL 2= EA 2Xts
1,500,002 1,500
03 A2 Y| 34,800 34,800 0
OFA O & E22 HIZ
8,000,000& 8,000
Ous & Z3tHA 23]
13,100,000 13,100
OL= A ZoSHHA 2AE
12,000,000 12,000
OXESAHL g5 K& 1,700,000 1,700
202 044l 1,000 1,000
01 =LA LI 1,000 1,000
O&Al & w2l F|
1,000,000& 1,000
206 =4l 9,000 7,000 2,000
01 =4l 9,000 7,000 2,000
O&Al & s M= 9,000,000& 9,000
301 YrEFEI 11,600 11,600
ITETTREE 11,600 11,600
OFAl Y DRT2 I 29 B
2,000,000& 2,000
OXHESAA S4Hl & nESH|
9,600,000& 9,600
405 KHAHH SH 11,000 11,000
01 ML ESHSHI 11,000 11,000
O&Al &g8E 2 11,000,000 11,000
OIHCAIHAIZ SEA Ifz 115,700 91,000 24,700
201 LBt2 ] 65,700 51,000 14,700
® 222 7,700 6,000 1,700
ouoise FEPEE U 24t
7,700,000 7,700
03 A2 ZHI 58,000 45,000 13,000
Ol AIFAZ SEH 58,000
oQEAIGAIZ EEH 29
30,000,000 30,000
oI AIHARZE HIOIE 2
20,000,000 20,000
oQIEZAIGARZ HIOHE 29
8,000,000 8,000
401 AlEHIZ 2018 50,000 40,000 10,000
04 SHAR2E AIZHI 50,000 40,000 10,000
OSEZ3d Al&H] 50,000
oQIMTAIHAIZE SEHE AlZH]
20,000,000 20,000
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FA AlgYS2
mu: si2@ 2@ 29
o QIETAIGAIY 29 (CH9: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SOIHETAIGAIZ HOHE Al
20,000,000& 20,000
o QI Al AR HIOIE AlZHI
10,000,000 10,000
I AIGARZ S8 R=2d 45,200 41,600 3,600
101 e124d| 19,200 18,300 900
M ORNZZ2NSE S 19,200 18,300 900
OJRN=Z2IsEx (Rl 18)
19,200,000 19,200
201 Ler23| 11,500 11,500
01 At2teltl 1,500 1,500
Osr=2cl MELI 1,500,000& 1,500
02 S3=gHl 10,000 10,000 0
O=&1 Ald =Xl 2l
8,000,000& 8,000
OATRE FELH I U 24|
2,000,000& 2,000
206 MH=Hl 10,000 10,000
01 MZH| 10,000 10,000
ORsael 423 10,000,000 10,000
405 AtatE = 4,500 1,800 2,700
01 TR ESFSHI 4,500 1,800 2,700
OR=AclE NIL=E 4,500
oReNelA 4HY 7Y
4,500,000 4,500
QI AIFARZE F A2 413,910 296,340 117,570
101 @124H| 40,800 31,180 9,620
MU IIRIMZENSES 40,800 31,180 9,620
OJIZtMZ22 RS2+ A3l 19)
40,800,000 40,800
201 et 3| 266,710 203,960 62,750
01 AtR2te|HI 10,310 7,860 2,450
Oget=EH| 3,246,000 3,246
OZctZell, =8)| gxtg
2,640,000 2,640
O&8=Jl itz 1,974,000& 1,974
OBF oiF DRHI(AY, 52| oaBl)
600,000& 600
O3At 2tE &M 28 250,000 250
Oul =l 1,600,000 1,600
2 s5=34l 256,400 196,100 60,300
OAlE &8I Xl 253,400
oMAE A 2= 100,000,000 100,000
oPC Y ZZ2ME(HIPC L&
20,000,000 20,000
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6,000,000
1,800,000
1,000,000

At s 8

(=]

o™J| &l &I

At

ulo

K0
L

KU
=
[0

0

1,000,000
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11,000, 00024
6,000,0002
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SH: AlRs2E
B si2n 2@ 2o
Chel: QT AIGAIZ 2T (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 MHZH| 16,000 10,000 6,000
Oedilzt 2d =235 Y
13,000,000 13,000
OFEAL 228 Me & AHESHH T
3,000,000& 3,000
401 AIEHIZ SR 0HYI 78,000 50,000 28,000
01 Al&HI 78,000 50,000 28,000
OFA =& LZE SAt 22,000,000 22,000
OBA SQA=XE X S 2l SA
34,000,000 34,000
OBA AR 23 At 22,000,000 22,000
405 AtatE = 11,200 11,200
01 Tt =S F=HI 11,200 11,200
ONAISII 7Y 3,200,000& 3,200
Oxtg S8R 8,000,000& 8,000
HH 23 6,735,643 6,169,741 565,902
olE2dt(AlgeEd) 5,933,649 5,507,585 426,064
el E2d| 5,933,649 5,507,585 426,064
101 ©1AH| 5,741,781 5,320,889 420,892
01 2= 3,004,831 2,809,271 195,560
OJlEs 2,219,950
obg 340,216,000 340,216
S 200,808,000& 200,808
ors 192,984,000 192,984
o85 105,994,000 105,994
=9= 9,271,000 92,271
ox gt 453,972,000 453,972
o HATAL 833,705,000& 833,705
od2=+¢ 110,554
Slo= 16,734,000 16,734
o7g 16,082,000& 16,082
o8g 4,417,000& 4,417
SEE 3,845,000& 3,845
oA A 69,476,000& 69,476
OZ2xgtit= 22,320
o260 & 4,680,000 4,680
=20E~25= 012t 2,640,000& 2,640
=15~20E 02 6,720,000& 6,720
=10~15= 0] 2t 2,880,000& 2,880
=5~10 0t 5,400,000& 5,400
OJsE=g 18,960
oHi LA 10,080,000 10,080
oZ . Hl& 2,640,000& 2,640
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SN ARSRE
;. ¥ 233
Sl clHA2HHI(AlEEEa) (S+9: &2
SA - ZE . BR(8) - HRAR - BES of v e HIDE2

SF Y PN E 2,880,000 2,880
o= MAH 3,360,000& 3,360
Ooflgae=4 2,280
=5 1,800,000& 1,800
od3E 480,000 480
Oolie+¢ 45,019
obg 10,881,000& 10,881
o6= 8,234,000 8,234
o7s 7,913,000 7,913
o HATAL 17,991,000& 17,991
OS=g==g 25,020
SJls8EsE 3,600
675 1,440,000 1,440
8=0lat 1,200,000& 1,200
IHaEZ (O1A 720,000 720
- IS (AFHIIAL 240,000 240
oA Rsd 18,240,000& 18,240
oSRAIeY 2,400,000 2,400
oHla22+E 780,000 780
Oxz=z22=¢ 184,410
S 22,256,000 22,256
oS 25,129,000 25,129
o8g 18,048,000 18,048
9= 17,086,000 17,086
oA 101,891,000& 101,891
OZA=AHI 73,920,000 73,920
OE &=l 142,579
obg 20,081,000 20,081
o7g 19,299,000& 19,299
=85 10,600,000 10,600
S =) 9,228,000& 9,228
o AHTAL 83,371,000 83,371
Ou It &l 24,759
=5 3,170,000& 3,170
So=] 2,399,000& 2,39
o7s 2,306,000& 2,306
o8g 1,267,000& 1,267
=9 1,103,000& 1,103
ox gt 4,555,000 4,555
oA TA 9,959,000& 9,959
(OFS= LB 135,060
SZ= 4,800,000 4,800
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SA: Ase
ma: AFSAAY)
Cel: A AH|(AlReSR) (CHe: )
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
obg, et 24,000,000 24,000
o6a, HA 51,060,000& 51,060
o7s 10,800,000& 10,800
o8=.92 16,800,000& 16,800
cHAZ (A 10,800,000& 10,800
cHAZF(FH,=Z) 16,800,000& 16,800
02 JIEtME = 1,032,058 947,819 84,239
oJlzs 674,760
o UBAIINI(4=2) 94,424,000 94,424
oFAHE 580,336,000 580,336
Oo¥=2+8(3233) 48,362,000 48,362
Od2+=gitits 13,080
o250 &t 7,800,000& 7,800
=20~25E 018t 2,640,000 2,640
= 10E=~15= 0] et 1,440,000 1,440
=5E~10= 0|8t 1,200,000& 1,200
OIE+< 8,640
S BN, 3,360,000& 3,360
oZ HI& 720,000& 720
o XM A 720,000 720
oS MAH 2,520,000& 2,520
oAIoI= Xt 1,320,000& 1,320
oz=st =g 3,120
ot 960,000& 960
oX 2,160,000& 2,160
Oxzl=2=2=E S 173,652
oA2te2f+E 123,721,000 123,721
o022eE 49,931,000 49,931
OZ A ZAMH| 23,520,000 23,520
OZEZII(HELEE) 58,034,000& 58,034
OYItE 4| 28,630
o UBIAIINI(4=2) 902,000& 902
oHAHE 27,728,000 27,728
ONSHABI(HEZEH) 260,000 260
03 SR (RIH )22 U2+ 1,704,892 1,563,799 141,093
OJl==(43%) 1,086,490,000& 1,086,490
OEe 14,640
SLUEDN 9,600,000 9,600
o&HlE 1,680,000 1,680
o XM AHA 2,520,000& 2,520
o= MAHH 840,000& 840
Oxl=22=Y S 281,914
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SH: AlRE2E
M #HE2AAY
Sl J12gHI(AZE2R) (S &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
o4g 4,800,000 4,800
obg 3,600,000& 3,600
ox gt 4,800,000& 4,800
2 SELREH 29,400 29,400 0
Ootiel sl 29,400,000 29,400
405 AHaHE S 5,000 5,000
02 =A-bl 5,000 5,000
Og=E A7l 5,000,000& 5,000
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